LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT
WORKSHEET - 2

35 19 22 84

x 28 x 46 x 53 x 72

280 114 66 168

+ 700 + 760 + 1100 + 5880
= 980 = 874 = 1166 = 6048
42 12 39 58

x 95 x 63 x 67 x 30

210 36 273 0

+ 3780 + 720 + 2340 + 1740
= 3990 = 756 = 2613 = 1740
26 53 48 61

x 52 x71 x 25 x 29

52 53 240 549

+ 1300 + 3710 + 960 * 1220
= 1352 = 3763 = 1200 = 1769
97 86 47 22

x 34 x 32 x 16 x 82

388 172 282 44

+ 2910 + 2580 + 470 + 1760
= 3298 = 2752 = 752 = 1804
59 75 55 70

x 46 x 61 x 37 x 25

354 75 385 350

+ 2360 + 4500 + 1650 + 1400
= 2714 = 4575 = 2035 = 1750
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